|ND,
it
» — ¥
[ = . i
* [ o e W 4
™ , Al s ;i
Vi gl )
.t / ’6)" X = .
m i ‘
—
e

CAPSULEQERsss v

PROFIT & LOSS
. (OBTIT 3112 BTion)

w. LIVE | 06:30 PM




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

A man sells his goods at a certain price, 20% of which is his profit. If the
price at which he buys the goods increases by 10% and he sells them at an
8% higher, then what will be his profit percent (correct to one decimal

place)?

v IeH vF fARea Fea W 3rver At a=ar g, owd 3@ 20%
a3 giar g1 Ifg ag ow fiera W amAe @dear g, a8 10% d¢ SAran
g 3R ag 3+¢ 8% 3HqF X I=dr g, aY 3THT o wfaerd (v
GAATT TITT dF Hal) FIAT gmm? (a) 22.7 (b) 21.8

- @7(5) 23.4 (d) 21.4

,¢/
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Anu sold an article for Rs.480 at some profit. Had she sold it for Rs.400,
then there would have been a loss equal to one-third of the initial profit.
What was the cost price of the article?

el A FS A W TH I&d B 480 T4 H 1| PR 38 9 400
T A 997 @, A YFATA T F oS A F RWa TR g

g€ @ anrd Jea Far @ (a) Rs.450 (b) Rs.425
(c) Rs.430 (d) Rs.420

A

A
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An article is sold at a certain price. If it is sold at 80% of this price, then
there will be a loss of 10%. What is the percentage profit when the article
is sold at the original selling price?

UH I B 0F AREd AeT W 991 T Bl 3R $H 56 FAG F
80% WX €T SITAT ¢, Al 10% T THAT RN Sd A @ 7ea «
aﬁﬁamm%mmm'""m%’

’E  » wia) 12— (b) 15
;'«; (c) 12 (d) 15
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35% of goods were sold at a profit of 65%, while the remaining were sold at
x% loss. If the overall loss is 12%, then what is the value of x? (correct to
one decimal place)

35%Eﬁﬁﬁ65%$mﬂﬁmmaﬂ?ﬁ§$ﬁ3ﬁ'ﬁx%ﬁ
g W a9 e Tl 58 e IR Fo AT 12% A @l g8, @
x T AT FAT HM? (TFH SHAT TAH dF Ta))

(3)52" ib)535
(c)51.% ¥  d)50.6

4/
7
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On selling an article for X 123.40, the gain is 20% more than the amount of
loss incurred on selling it for X 108. If the article is sold for X 120.75, then

what is the gain/loss per cent?

el T #T 2123.40 H IT9 T IIod T, $H 1108 A d9HT §od
arell gifer & TfA / 20% IO+ g1 IR} awg Fr 212075 F FJ=71 71977,
ar ame/giar gfaerd Ard Hifae|

(a) Gain 2.5% (b) Gain 5%
(c) Loss 5% A (d) Loss 2.5%

/!lil ‘\

b A\
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Shashi sells two articles for X 5,000 each with no loss and no profit in the

. e 2 .
overall transaction. If one article is sold at 163% loss, then the other is sold
atprofit of:

o, 25,000 Y & ¥ &Y TET A°AT §, QW AF-GT H a1 aF gfer gl
g 3 am & amnl AR v T 160% A gfA WA aE @ qEd
a¥q fodaer amr @ I a2 .

(a) 24% (b) 25%a@ @ —&—

-— v O

2 1, N
(c) 165% (d) 135 o
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The profit obtained by selling an article for ¥ 625
is same as the loss incurred if it is sold for ¥ 545.

The price at which it is to be sold to realize a
profit of ¥ 65 on the cost price is

fordll %] 1 625 FITC H d<94 W Y ¥ 39 545 TIT
T a=F W A arell B & 90 81 39 fRE g W o=
ST foh ST Jod W 65 ¥9T T o9 U< 7l ?

(1) T 640 (2) T 630 %\ 650 (4)T 660

/dL

i"\\
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A man purchases some oranges at the rate of 3
for ¥ 40 and the same quantity at 5 for ¥ 60. If he
sells all the oranges at the rate of 3 for ¥ 50, find
his gain or loss percent (to the nearest integer).

T SEH F9 Gl 40 T § 3 o 96 W @lEd @ 990
3dH B § 60 T H 5 oh & H| F(< el Gl i a8

50 T0 H 3 o 9E 9 d9d1 @ a 39T Giavrd o Al

' gl fHehedm quiieh d% A1d 12
~5— B B (1)32% profit / T (2) 31% loss / T
/,

(3) 34% loss / =1 (4) 31% profit / <9
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2
Gita buys a plot of land for ¥ 96,000. She sells 5

of it at a loss of 6%. She wants to make a profit
of 10% on the whole transaction by selling the
remaining land. The gain % on the remaining land
1S

Mar = 9fF #1 TF wie T 96,000 H TR 1 SEH U

% AT 6% B W o= o 81 98 379 U9 HE Sl

Hd o 10% FAF Jedl 81 IR 39 39 9 fmd
gfaerd o9 W a1 ghm?

2
(1) 20% (2) 205 % (3) 14% (4) 7%
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A man buys two chairs in total cost of T 900. One

4 5
is sold at 5 of cost price and other at 1 of cost

price. In this transaction, there is profit of ¥ 90.
What is cost price of chair whose price is less

TF ARHT & KA A T 900 HI AN B BRI €1 Th

H1 IS AR & %W@T{Hﬁﬁﬂﬁ%@ ZW

99 T 3H Rl el H 3 e § T 90 H1 A1H Bl

21 HH M ool HE i @NE B
(1) ¥ 360 (2) T 400 (3)T420 (4)F 300




MM‘;// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

A milkman makes 20% profit by selling milk mixed
with water at ¥ 9 per litre. If the cost price of 1
litre pure milk is ¥ 10, then the ratio of milk and
water in the said mixture is

Teh 3T, 3794 38 H Ut fHermet ¥ 9 fd offet &l =X
T 9=l € 3R 20% o9 FHAM | A STH I T HI
T Z10 9fa e &, df 3o fasor o gu iR urt @
I fera 272

(1)3:1 (2)4:1 (3)3:2 (4)4:3
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Nisha bought a number of oranges at 2 for a rupee
and an equal number at 3 for a rupee. To make a
profit of 20% she should sell a dozen for

f9n 3 T U A 2 & feue ¥ %9 E@ TS IR Sa
& TR Teh TUC H 3 & 9@ 9 Tl 20% 1 1 HHM
& fau 39 T ToH 9 fohad ¥4 O a9 =ifeu ?
(1) 6 (2)I 8 3)F10 (4T 12
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If the selling price of an article is 32% more than
its cost price and the discount offered on its
marked price is 12%, then what is the ratio of its
cost price to the marked price?

If frdl a5 &1 fasa e, 39k arfd o9 9 32%
Aferer 8 3R a%g o 3ifehd o W< T 52 12% =1 i
ANTd god 3R 3ifhd qoa 1 219 o 872

(1)4:5 (2)3:8 (3)2:3 4)1:2
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An article listed at ¥ 800 is sold at successive
discounts of 25% and 15%. The buyer desires to
sell it off at a profit of 20% after allowing a 10%
discount. What would be his list price ?

ush 9%, S 3ifhd gea 800 %. B, 25% A1 15%
% HHAR 922 & Y o= Sl 81 TULER 3@R 10%
FT Teh 92 31 & IAd H 20% TH Th o1 =1l

gl S8 ST fora sifera goa fauifa s sm 2
(1) T 620 (2) T 600 (3)T 640 (4)T 680
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A shopkeeper allows a discount of 12.5 % on the
marked price of a certain article and makes a profit
of 20 %. If the article costs the shopkeeper I 210,
then the marked price of the article will be

Uh FehaR fohdl a%q & 3ifhd Hoa W 12.5 % i &<
A T IR 20 % H N9 HEC Bl AT g B AN
SHMER i T 210 TSt B, dl o o1 3ifehd Joar 71 &I 2

(1) T 387 (2)T350 (3)T 386 (4)3 288
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A trader marks his goods in such a way that after
allowing a discount of 10% he gains 15%. If an arti-
cle costs him Rs. 720, his marked price is

T AR A9 Hiel W 31 Joo 3ifehd ol € fF 10% i
T I F 98 U 15% H1 o9 B 21 AR fRE a%q Hi
SARTd 9 720 TIC TSl € o SHeh 3iferd Yo fehamn gFT 2

(1)F920 (2)FT900 (3)F 820 (4) T 950
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A machine 1s sold at a profit of 18.18%. Had 1t sold
for Rs75 less there would have been a profit of
12.5%. Find the SP of machine

U AMA 18.18% & WX & Ty & | If 37 75

T HH H 9T JATAT § ar 12.5% T 1T grar g1 JieT

T f[IhaHeT STl
a) Rs 2500 b) Rs 1320 ¢) Rs 1560 d)NOT
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Q11. A trader marks up his goods by 80% he allows a discount of 20% he cheats
16.67% while buying as well as he cheats 25% while selling also He gives 1 article
free with every 20 article. find profit %?

U gFECR REFIHAFT 80% ¥QT FX T@dT §| IUT aF 20% A T a1 §] aF @iga 77 16.67%
1 AN FIAT § TUT ITY FAT 25% A I FAT | TF 20 ITFG W 1 T&J AFA qaAT § 3HHT A1
% qATX ?

a)125% b)100% c)113.33% d)120%
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In festival season, a shopkeeper allows a

discount of 10% on every item. Even after

the discount, he makes a profit of 20%. If he

does not give any discount, then what will be
his profit percent? (correct to 2 decimal

places)

WER & A9H & SRM, DI gHFACR TAD
T W 10% B BC T & | B 77 & 919 4,
S 20% BT @ BIT 8 | AT I8 IS BE T8I
oal, o SHPT fwd aM (GUEed @ I

d% 98)) fha=m gar?
A. 33% B.25% C.33.33% D.33.43%
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A dealer bought some toys for ¥1800. He sold

1
40% of these at a loss of 15% and 33 ;% of

the remaining toys at 20% profit. At what
percent profit should he sell the remaining

toys to earn an overall profit of 10%?

% famar 71 31,800 ¥ o Rady @i | SO
STH ¥ 40% Rad=t @ 15% g7 R 941 3R

I F D 33§% RaalHl B 20% WM R

991 | B FATBR 10% M T HRA B fore,
99 Y el fhaq o ufdea W 9=

=feq?
A.30% B. 24% C.25% D.20%
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A table fan, passing through two hands, is sold finally at a profit of 30% of the original cost price.
If the first dealer makes a profit of 25%, then the profit made by the second dealer is:

A g § TR 91T UF 9 B, ol B9 o W 30% & @M WR 997 ST 8| R Uge AN 25% wfdera
I A HHCT 8, N TEAR WM FRT FAY Y A AT dY S & |

A.5%
B.10%
C.15%
D.a%




